Canad. Math. Bull. Vol. **56** (1), 2013 pp. 184–193 http://dx.doi.org/10.4153/CMB-2011-163-4 © Canadian Mathematical Society 2011



On Some Non-Riemannian Quantities in Finsler Geometry

Zhongmin Shen

Abstract. In this paper we study several non-Riemannian quantities in Finsler geometry. These non-Riemannian quantities play an important role in understanding the geometric properties of Finsler metrics. In particular, we study a new non-Riemannian quantity defined by the S-curvature. We show some relationships among the flag curvature, the S-curvature, and the new non-Riemannian quantity.

1 Introduction

There are several non-Riemannian quantities in Finsler geometry, such as the distortion, the (mean) Cartan torsion, the S-curvature, the (mean) Berwald curvature, and the (mean) Landsberg curvature. We view the distortion and the (mean) Cartan torsion as non-Riemannian quantities of *order zero*, and the S-curvature, the (mean) Berwald curvature, and the (mean) Landsberg curvature as non-Riemannian quantities of *order one*. Differentiating these quantities along geodesics, we obtain some non-Riemannian quantities of *order two*.

Let *F* be a Finsler metric on an *n*-dimensional manifold *M*. In this paper we will consider two non-Riemannian quantities $\Xi = \Xi_i dx^i$ and $H = H_{ij} dx^i \otimes dx^j$ on the tangent bundle *TM*:

(1.1)
$$\Xi_i := \mathbf{S}_{\cdot i|m} \boldsymbol{y}^m - \mathbf{S}_{|i|},$$

(1.2)
$$H_{ij} := \frac{1}{2} \mathbf{S}_{\cdot \cdot \cdot j|m} y^m,$$

where **S** denotes the S-curvature of *F*, and "·" and "|" denote the vertical and horizontal covariant derivatives, respectively, with respect to the Chern connection. We shall prove that *H* can be expressed by Ξ directly (Lemma 2.1).

One of the fundamental problems in Finsler geometry is to understand Finsler metrics of special curvature properties. We would like to investigate the following three classes of Finsler metrics with special non-Riemannian curvature properties:

(i) Almost isotropic S-curvature:

$$\mathbf{S} = (n+1)cF + \eta,$$

where c = c(x) is a scalar function and η is a 1-form on *M* with $d\eta = 0$,

Received by the editors April 15, 2010; revised August 9, 2010.

Published electronically October 5, 2011.

The author was supported in part by the National Natural Science Foundation of China (NNSFC-10671214), (NNSFC-10871171), the Science Foundation of Ningbo (2008A610014), and an NSF grant (DMS-0810159).

AMS subject classification: 53C60, 53B40.

Keywords: Finsler metric, S-curvature, non-Riemannian quantity.

(ii) Almost vanishing Ξ -curvature:

(1.4)
$$\Xi_i = -(n+1)F^2\left(\frac{\theta}{F}\right)_{y^i},$$

where $\theta = a_i(x)y^i$ is a 1-form on M,

(iii) Almost vanishing *H*-curvature:

(1.5)
$$H_{ij} = \frac{n+1}{2} \theta F_{y^i y^j}$$

where $\theta = a_i(x)y^i$ is a 1-form on *M*.

By (1.1) and (1.2), one can easily show that (1.3) implies (1.4) and (1.5) with $\theta = c_{x^m}(x)y^m$. However, the converse is not true. There are Finsler metrics with $\Xi = 0$ and H = 0, but the S-curvature is not almost isotropic. See Example 1.1. By Lemma 2.1, $H = \frac{1}{2}(\Xi_{i\cdot j} + \Xi_{j\cdot i})$, one can see that (1.4) implies (1.5), but the converse might not be true.

We also would like to investigate Finsler metrics with special Riemannian curvature properties. In particular, we consider Finsler metrics of almost isotropic flag curvature defined as follows,

(1.6)
$$\mathbf{K} = \frac{3\theta}{F} + \sigma$$

where $\sigma = \sigma(x)$ is a scalar function and $\theta = a_i(x)y^m$ is a 1-form on *M*.

The non-Riemannian quantities S, Ξ , and H are closely related to the flag curvature. First we have the following known results.

Theorem 1.1 ([4, 12]) Let F be a Finsler metric of scalar flag curvature on an ndimensional manifold M.

- (i) If **S** is almost isotropic, given by (1.3), then the flag curvature is almost isotropic, given by (1.6) with $\theta = c_{x^m}(x)y^m$.
- (ii) For a 1-form θ , H almost vanishes, given by (1.5), if and only if the flag curvature is almost isotropic, given by (1.6). In particular, H = 0 if and only if $\mathbf{K} = \sigma$ (constant when $n \ge 3$).

It is shown that every Randers metric of almost isotropic flag curvature must be of almost isotropic S-curvature ([16]). But this is not true for general Finsler metrics. See Example 1.1.

In this paper, we shall prove the following theorem.

Theorem 1.2 Let F be a Finsler metric of scalar flag curvature on an n-dimensional manifold M. Then for a 1-form θ on M, Ξ almost vanishes, given by (1.4), if and only if **K** is almost isotropic, given by (1.6). In particular, $\Xi = 0$ if and only if **K** = σ (constant when $n \ge 3$).

According to a theorem by Akbar-Zadeh, every Finsler metric of constant flag curvature on a *compact* manifold *M* must be Riemannian if $\mathbf{K} = \sigma < 0$ [1]. Thus for a Finsler metric of scalar flag curvature on a compact manifold with $\Xi = 0$, if $\mathbf{K} < 0$, then it must be Riemannian. In fact, this is true under a weaker condition on the flag curvature.

Theorem 1.3 Let (M, F) be a compact Finsler manifold with $\Xi = 0$. If the flag curvature is negative, then it must be Riemannian.

The condition $\Xi = 0$ cannot be dropped in Theorem 1.3. Take an arbitrary compact Riemannian manifold (M, α) of negative constant curvature and an arbitrary smooth function f on M. Consider a Randers metric $F = \alpha + \varepsilon df$ with sufficiently small number ε . F has negative flag curvature, but it is not Riemannian unless $\varepsilon = 0$. Thus the condition $\Xi = 0$ cannot be dropped in Theorem 1.3. There are Randers metrics on S^n with positive constant curvature and $\Xi = 0$ [13] [3]. Thus the condition $\mathbf{K} < 0$ cannot be dropped in Theorem 1.3. We do not know whether or not Theorem 1.3 is still true if the non-Riemannian condition $\Xi = 0$ is replaced by H = 0.

We go back to discussing the relationship between the S-curvature **S** and the Ξ -curvature. As we have shown above, if the S-curvature is almost isotropic, **S** = $(n + 1)cF + \eta$, then Ξ satisfies (1.4) with $\theta = c_{x^m}(x)y^m$. The converse might not be true in general (Example 1.1). However, for Randers metrics, they are equivalent. More generally, we have the following theorem.

Theorem 1.4 Let $F = \alpha + \beta$ be a Randers metric on an n-dimensional manifold M. The S-curvature is almost isotropic, given by (1.3), if and only if the non-Riemannian quantity Ξ almost vanishes, given by (1.4). In particular, $\mathbf{S} = (n + 1)cF$ for some constant c if and only if $\Xi = 0$.

We do not know whether or not Theorem 1.4 is still true for the non-Riemannian quantity *H*.

Example 1.1 Let $F = (\alpha + \beta)^2 / \alpha$, where

$$\alpha := \frac{\sqrt{|y|^2 - (|x|^2|y|^2 - \langle x, y \rangle^2)}}{(1 - |x|^2)^2}, \quad \beta := \frac{\langle x, y \rangle}{(1 - |x|^2)^2}.$$

F is a projectively flat metric on the unit ball $B^n(1) \subset R^n$ with $\mathbf{K} = 0$. By Theorem 1.1(ii), we see that H = 0. By Theorem 1.2, we see that $\Xi = 0$. *F* is an (α, β) -metric. In [6], we classified (α, β) -metrics of isotropic S-curvature. By [6, Theorem 1.2], we can see that *F* is not of isotropic S-curvature. Actually, by a direct computation, we can verify that **S** is not almost isotropic.

2 Preliminaries

Let F be a Finsler metric on an n-dimensional manifold M. It induces a spray G on TM. In local coordinates in TM, it is expressed by

$$G = y^i \frac{\partial}{\partial x^i} - 2G^i \frac{\partial}{\partial y^i},$$

where $G^i = \frac{1}{4}g^{il}\{[F^2]_{x^my^l}y^m - [F^2]_{x^l}\}$. Geodesics in *M* are just the projections of integral curves of *G*. Put

$$\Pi = \frac{\partial G^m}{\partial y^m}.$$

This is an important local quantity. Note that Π is a local scalar function that depends on the choice of a particular coordinate system.

When *F* is a Berwald metric, namely, $G^i = \frac{1}{2}\Gamma^i_{jk}(x)y^jy^k$ are quadratic in *y*, then $\Pi = \Gamma^m_{jm}y^m$ is a local exact 1-form. In fact, by a theorem of Szabo, there is a Riemannian metric $\alpha = \sqrt{a_{ij}(x)y^iy^j}$ such that the spray coefficients G^i of *F* coincide the spray coefficients $\bar{G}^i = \frac{1}{2}\bar{\Gamma}^i_{jk}(x)y^jy^k$ of α . Then we have

$$\Pi = \Gamma_{jm}^m y^j = \bar{\Gamma}_{jm}^m y^j = y^m \frac{\partial}{\partial x^m} \left(\ln \sqrt{\det(a_{ij})} \right).$$

Therefore, Π is actually a local exact 1-form.

Let $dV = f dx^1 \cdots dx^n$ be a volume form on *M*. The S-curvature of (F, dV) is given by

$$\mathbf{S} = \Pi - y^m \frac{\partial}{\partial x^m} (\ln f) \,.$$

This is a well-defined geometric quantity ([14]). If $dV = dV_F$ is the Busemann–Hausdorff volume form, the corresponding S-curvature is called the S-curvature of *F*. Note that if the S-curvature is almost isotropic with respect to one volume form, then it is almost isotropic with respect to any volume form.

Lemma 2.1

(2.1)
$$H_{ij} = \frac{1}{4} \left\{ \Xi_{i \cdot j} + \Xi_{j \cdot i} \right\}.$$

Proof By (1.1) and (1.2), we can express Ξ_i and H_{ij} by

(2.2)
$$\Xi_i = \prod_{y^i x^m} y^m - \prod_{x^i} - 2\prod_{y^i y^m} G^m$$

(2.3)
$$H_{ij} = \frac{1}{2} \left\{ \Pi_{y^i y^j x^m} y^m - 2 \Pi_{y^i y^j y^m} G^m - \Pi_{y^j y^m} \frac{\partial G^m}{\partial y^i} - \Pi_{y^i y^m} \frac{\partial G^m}{\partial y^j} \right\}.$$

It follows from (2.2) and (2.3) that

(2.4)
$$H_{ij} = \frac{1}{4} \left\{ \frac{\partial \Xi_i}{\partial y^j} + \frac{\partial \Xi_j}{\partial y^i} \right\}.$$

Since $\Xi_{i \cdot j} = \frac{\partial \Xi_i}{\partial y^j}$, we get (2.1).

The quantity $\Xi = \Xi_i dx^i$ can be expressed in terms of the Riemannian curvature $R = R^i_k \frac{\delta}{\delta x^i} \otimes dx^k$ or the mean Cartan torsion $I = I_i dx^i$. The following lemma is well known.

-

Z. Shen

Lemma 2.2 ([4,8,9,11])

(2.5)
$$\Xi_i = -\frac{1}{3} \{ 2R^m_{i\cdot m} + R^m_{m\cdot i} \} = I_{i|p|q} y^p y^q + I_m R^m_{i\cdot}$$

By Lemma 2.2, we immediately obtain two corollaries.

Corollary 2.3 ([10]) For any R-quadratic Finsler metric, there is a two-form $\xi = \xi_{ij}(x)dx^i \wedge dx^j$ such that $\Xi_i = \xi_{ij}y^j$. Hence $H_{ij} = 0$.

Proof Assume that *F* is R-quadratic, namely, $R_{k}^{i} = R_{jkl}^{i} \gamma^{j} \gamma^{l}$, where $R_{jkl}^{i} = R_{jkl}^{i}(x)$ denotes the hh-curvature of the Berwald connection, which depends only on the position $x \in M$.

We have

$$R^{m}_{i\cdot m} = R^{m}_{m\,il}y^{l} + R^{m}_{j\,im}y^{j}$$
$$R^{m}_{m\cdot i} = R^{m}_{i\,ml}y^{l} + R^{m}_{j\,mi}y^{j}.$$

Thus

$$\Xi_{i} = -\frac{1}{3} \{ 2R_{m\,il}^{\,m} + 2R_{l\,im}^{\,m} + R_{i\,ml}^{\,m} + R_{l\,mi}^{\,m} \} y^{l}$$

By the Bianchi identities, we get $\Xi_i = R_{m \, li}^m y^l$. Note that $\xi_{ij} := R_{m \, ij}^m(x)$ is antisymmetric in *i* and *j*, *i.e.*, $\xi_{ij} + \xi_{ji} = 0$. Thus $\xi := \xi_{ij} dx^i \wedge dx^j$ is a two-form on *M*. By (2.4), we see that $H_{ij} = 0$.

The fact that H = 0 for all R-quadratic Finsler metrics is due to X. Mo [10].

Corollary 2.4 Let F = F(x, y) be a Finsler metric on an n-dimensional manifold. Suppose that F is of scalar flag curvature $\mathbf{K} = K(x, y)$. Then

(2.6)
$$\Xi_i = -\frac{n+1}{3}F^2 K_{.i}.$$

Proof Suppose that *F* is of scalar flag curvature $\mathbf{K} = K(x, y)$. Then

$$R^m_i = K\{F^2\delta^m_i - g_{ip}\gamma^p\gamma^m\}.$$

Differentiating R_i^m , we get

$$R^{m}_{i\cdot m} = F^{2}K_{\cdot i} - (n-1)Kg_{ip}y^{p}$$
$$R^{m}_{m\cdot i} = (n-1)F^{2}K_{\cdot i} + 2(n-1)Kg_{ip}y^{p}.$$

Thus

$$2R_{i \cdot m}^{m} + R_{m \cdot i}^{m} = (n+1)F^{2}K_{\cdot i}.$$

Plugging it into (2.5) we obtain $\Xi_i = -\frac{n+1}{3}F^2 K_{i}$.

https://doi.org/10.4153/CMB-2011-163-4 Published online by Cambridge University Press

Proofs of Theorems 1.2 and 1.3 3

Proof of Theorem 1.2 This follows from Corollary 2.4 directly. We can rewrite (2.6) as follows:

$$\Xi_i + (n+1)F^2\left(\frac{\theta}{F}\right)_{\cdot i} = -\frac{n+1}{3}F^2\left(K - \frac{3\theta}{F}\right)_{\cdot i}$$

where θ is an arbitrary 1-form on M. Thus (1.4) holds if and only if (1.6) holds for some scalar function $\sigma = \sigma(x)$.

Proof of Theorem 1.3 The argument is similar to the proof of the main theorem in [15]. By Deicke's theorem, it suffices to prove that the mean Cartan torsion vanishes.

By assumption $\Xi = 0$. It follows from (2.5) that

$$(3.1) I_{i|p|q} \gamma^p \gamma^q + I_m R^m_i = 0.$$

For a vector $y \in T_x M$, let $\mathbf{I}_y \in T_x M$ be defined by $g_y(\mathbf{I}_y, v) = I_i(x, y)v^i$. Let $\sigma = \sigma(t)$ be an arbitrary geodesic. Since F is complete, one may assume that σ is defined on $(-\infty,\infty)$. Let $\mathbf{I}(t) := \mathbf{I}_{\dot{\sigma}(t)}$. Equation (3.1) restricted to $\sigma(t)$ becomes

(3.2)
$$D_{\dot{\sigma}}D_{\dot{\sigma}}\mathbf{I}(t) + \mathbf{R}_{\dot{\sigma}(t)}(\mathbf{I}(t)) = 0.$$

Thus, the mean Cartan torsion is a Jacobi field along any geodesic. Let

$$\varphi(t) := g_{\dot{\sigma}(t)} \big(\mathbf{I}(t), \mathbf{I}(t) \big) \,.$$

It follows from (3.2) that

(3.3)
$$\varphi^{\prime\prime}(t) = 2g_{\dot{\sigma}(t)} \left(\mathbf{D}_{\dot{\sigma}} \mathbf{D}_{\dot{\sigma}} \mathbf{I}(t), \mathbf{I}(t) \right) + 2g_{\dot{\sigma}(t)} \left(\mathbf{D}_{\dot{\sigma}} \mathbf{I}(t), \mathbf{D}_{\dot{\sigma}} \mathbf{I}(t) \right)$$
$$= -2g_{\dot{\sigma}(t)} \left(\mathbf{R}_{\dot{\sigma}(t)}(\mathbf{I}(t)), \mathbf{I}(t) \right) + 2g_{\dot{\sigma}(t)} \left(\mathbf{D}_{\dot{\sigma}} \mathbf{I}(t), \mathbf{D}_{\dot{\sigma}} \mathbf{I}(t) \right).$$

By assumption, $\mathbf{K} < 0$. Thus $g_{\dot{\sigma}(t)}(\mathbf{R}_{\dot{\sigma}(t)}(\mathbf{I}(t)), \mathbf{I}(t)) \leq 0$. It follows from (3.3) that $\varphi''(t) \ge 0$. Thus $\varphi(t)$ is convex and nonnegative. Suppose that $\varphi'(t_o) \ne 0$ for some t_o . If $\varphi'(t_o) < 0$, then

$$\varphi(t) \ge \varphi(t_o) - \varphi'(t_o)(t_o - t), \quad t < t_o.$$

If $\varphi'(t_o) > 0$, then

$$\varphi(t) \ge \varphi(t_o) + \varphi'(t_o)(t - t_o), \quad t > t_o.$$

One can see that $\lim_{t\to+\infty} \varphi(t) = \infty$ or $\lim_{t\to-\infty} \varphi(t) = \infty$. This implies that the mean Cartan torsion is unbounded, which contradicts the assumption. Therefore, $\varphi'(t) = 0$ and hence $\varphi''(t) = 0$. It follows from (3.3) that $\mathbf{R}_{\sigma(t)}(\mathbf{I}(t)) = 0$. Since σ is arbitrary, one can conclude that $\mathbf{R}_{\nu}(\mathbf{I}_{\nu}) = 0$. Since $\mathbf{K} < 0$, we conclude that $\mathbf{I}_{\nu} = 0$. By Deicke's theorem [2], *F* is Riemannian.

4 Randers Metrics

Consider a Randers metric $F = \alpha + \beta$, where $\alpha = \sqrt{a_{ij}(x)y^iy^j}$ and $\beta = b_i(x)y^i$. Let $\nabla \beta = b_{ij}y^i dx^j$ denote the covariant derivative of β with respect to α . Let

$$\begin{aligned} r_{ij} &:= \frac{1}{2} (b_{i;j} + b_{j;i}), \quad s_{ij} := \frac{1}{2} (b_{i;j} - b_{j;i}), \quad s_j := b^i s_{ij}, \\ e_{ij} &:= r_{ij} + b_i s_j + b_j s_i, \quad e_j := b^i e_{ij}. \\ q_{ij} &:= r_{im} s^m_j, \quad t_{ij} := s_{im} s^m_j, \\ q_j &:= b^i q_{ij} = r_m s^m_j, \quad t_j := b^i t_{ij} = s_m s^m_j \\ w_{ij} &:= q_{ij} + b_i t_j + s_i s_j. \end{aligned}$$

Here and hereafter, we use a_{ij} to raise and lower the indices of tensors defined by b_i and b_{ij} . We shall also denote $y_i := a_{ij}y^j$. The index "0" means the contraction with y^i . For example, $e_{k0} := e_{kl}y^l$, $e_{00} := e_{kl}y^ky^l$, and so on.

The following lemma is known.

Lemma 4.1 ([5]) *For a Randers metric* $F = \alpha + \beta$ *, the following are equivalent:*

- (i) $\mathbf{S} = (n+1)cF;$
- (ii) $e_{00} = 2c(\alpha^2 \beta^2).$

To prove Theorem 1.4 it suffices to prove that $\Xi_i = -(n+1)\{\theta_{y^i}F - \theta F_{y^i}\}$ implies that $e_{00} = 2c(\alpha^2 - \beta^2)$.

The spray coefficients of *F* are given by

$$(4.1) Gi = \bar{G}i + Hi,$$

where

$$H^i := Py^i + \alpha s^i_{\ 0}, \quad P = \frac{e_{00}}{2F} - s_0.$$

Let $H := [H^p]_{y^p}$. We have

$$H := [H^m]_{y^m} = [Py^m + \alpha s^m_0]_{y^m} = (n+1)P.$$

Plugging the formula (4.1) into (2.2), we obtain

$$\Xi_{i} = H_{i;m} y^{m} - H_{i} - 2H_{i,m} H^{m} = (n+1) \{ P_{i;m} y^{m} - P_{i} - 2P_{i,m} H^{m} \},$$

where " \cdot " and ";" denote the vertical and horizontal covariant differentiations with respect to α , respectively.

https://doi.org/10.4153/CMB-2011-163-4 Published online by Cambridge University Press

We have

$$\begin{split} P_{;i} &= \frac{1}{2(\alpha + \beta)^2} \Big\{ e_{00;i}\alpha + e_{00;i}\beta - \beta_{;i}e_{00} \Big\} - s_{0;i}, \\ P_{\cdot i;m} y^m &= -\frac{1}{2\alpha(\alpha + \beta)^3} \Big\{ -2\alpha(\alpha + \beta)^2 e_{0i;0} + 2\alpha(\alpha + \beta)\beta_{;0}e_{0i} - 2\beta_{;0}e_{00}(y_i + \alpha b_i) \\ &+ (\alpha + \beta)e_{00;0}y_i + \alpha(\alpha + \beta)e_{00;0}b_i + \alpha(\alpha + \beta)e_{00}b_{i;0} \Big\} - s_{i;0}, \\ P_{\cdot i \cdot m} H^m &= \frac{1}{2(\alpha + \beta)^3} \Big\{ 2\alpha(\alpha + \beta)^2 w_{i0} - 2w_{00}(\alpha + \beta)(y_i + \alpha b_i) \\ &- 2\alpha(\alpha + \beta)s_0e_{0i} + 2e_{00}s_0(y_i + \alpha b_i) - (\alpha + \beta)e_{00}s_{i0} \Big\}. \end{split}$$

Note that

$$b_{i;0} = e_{0i} + s_{i0} - s_i\beta - b_is_0, \quad \beta_{;i} = e_{0i} - s_{i0} - b_is_0 - s_{i0}$$

We obtain the following formula for $\Xi:$

$$\alpha(\alpha+\beta)^3\Xi_i=(n+1)\left\{S_{i\,\text{even}}+S_{i\,\text{odd}}\alpha\right\},\,$$

where

$$\begin{split} S_{i \text{ even}} &:= (\alpha^2 + 3\beta^2)(e_{i;0} - e_{0;i})\alpha^2 \\ &+ \left\{ 2(w_{00}y_i - w_{i0}\alpha^2) + 2(w_{00}b_i - w_{i0}\beta)\beta \right\}\alpha^2 \\ &+ \left\{ e_{0i;0}\alpha^2 - \frac{1}{2}e_{00;0}y_i - \frac{1}{2}e_{00;i}\alpha^2 \right\}\beta + \left\{ e_{0i;0}\beta - \frac{1}{2}e_{00;0}b_i - \frac{1}{2}e_{00;i}\beta \right\}\alpha^2 \\ &- 2s_0(e_{00}b_i - e_{0i}\beta)\alpha^2 + (e_{00} - 2s_0\beta)(e_{00}y_i - e_{0i}\alpha^2), \\ S_{i \text{ odd}} &:= (3\alpha^2 + \beta^2)(e_{i;0} - e_{0;i})\beta \\ &+ 2(w_{00}y_i - w_{i0}\alpha^2)\beta + 2(w_{00}b_i - w_{i0}\beta)\alpha^2 \\ &+ \left\{ e_{0i;0}\alpha^2 - \frac{1}{2}e_{00;0}y_i - \frac{1}{2}e_{00;i}\alpha^2 \right\} + \left\{ e_{0i;0}\beta - \frac{1}{2}e_{00;0}b_i - \frac{1}{2}e_{00;i}\beta \right\}\beta \\ &+ (e_{00} - 2s_0\beta)(e_{00}b_i - e_{0i}\beta) - 2s_0(e_{00}y_i - e_{0i}\alpha^2). \end{split}$$

Then

$$\begin{split} S_{i \text{ odd}} \alpha^2 - S_{i \text{ even}} \beta &= (\alpha^2 - \beta^2) \Big\{ 2(e_{i;0} - e_{0;i}) \alpha^2 \beta + 2(w_{00}b_i - w_{i0}\beta) \alpha^2 \\ &+ (e_{0i;0}\alpha^2 - \frac{1}{2}e_{00;0}y_i - \frac{1}{2}e_{00;i}\alpha^2) - 2s_0(e_{00}y_i - e_{0i}\alpha^2) \Big\} \\ &+ e_{00}^2 (\alpha^2 b_i - \beta y_i). \end{split}$$

We assume that $\Xi_i = -(n+1)F^2\left(\frac{\theta}{F}\right)_{.i}$. Then

$$\alpha(\alpha+\beta)^{3}\Xi_{i}=(n+1)\left\{T_{i\,\text{even}}+T_{i\,\text{odd}}\alpha\right\},\,$$

Z. Shen

where

$$T_{i \text{ even}} = (3\alpha^2 + \beta^2)\beta(\theta y_i - \theta_i\alpha^2) + (\alpha^2 + 3\beta^2)\alpha^2(\theta b_i - \theta_i\beta)$$
$$T_{i \text{ odd}} = (\alpha^2 + 3\beta^2)(\theta y_i - \theta_i\alpha^2) + (3\alpha^2 + \beta^2)\beta(\theta b_i - \theta_i\beta).$$

Thus

$$T_{i \text{ odd}}\alpha^2 - T_{i \text{ even}}\beta = (\alpha^2 - \beta^2) \left\{ (\alpha^2 + \beta^2)(\theta y_i - \theta_i \alpha^2) + 2\alpha^2 \beta(\theta b_i - \theta_i \beta) \right\}.$$

We conclude that

(4.2)
$$e_{00}^{2}(\alpha^{2}b_{i}-\beta y_{i})=(\alpha^{2}-\beta^{2})M_{i}$$

where M_i is a homogeneous polynomial of degree four with $M_i y^i = 0$. Contracting (4.2) with $b^i = a^{ij}b_j$ yields

$$e_{00}^{2}(\alpha^{2}b^{2}-\beta^{2})=(\alpha^{2}-\beta^{2})M_{i}b^{i}$$

where $b := \|\beta_x\|_{\alpha} < 1$. There is no common factor in $(\alpha^2 b^2 - \beta^2)$ and $\alpha^2 - \beta^2$. Thus e_{00}^2 is divisible by $\alpha^2 - \beta^2$. Since $\alpha^2 - \beta^2$ is irreducible, e_{00} must be divisible by $\alpha^2 - \beta^2$. Therefore there is a scalar function c = c(x) such that

$$e_{00} = 2c(\alpha^2 - \beta^2).$$

This proves Theorem 1.4.

References

- H. Akbar-Zadeh, Sur les espaces de Finsler à courbures sectionnelles constantes. Acad. Roy. Belg. Bull. Cl. Sci. 74(1988), no. 10, 271–322.
- [2] D. Bao, S.-S. Chern, and Z. Shen, An introduction to Riemann-Finsler geometry. Graduate Texts in Mathematics, 200, Springer-Verlag, New York, 2000.
- [3] D. Bao, C. Robles, and Z. Shen, Zermelo navigation on Riemannian manifolds. J. Differential Geom. 66(2004), no. 3, 377–435.
- [4] X. Chen, X. Mo, and Z. Shen, On the flag curvature of Finsler metrics of scalar curvature. J. London Math. Soc. 68(2003), no. 3, 762–780. http://dx.doi.org/10.1112/S0024610703004599
- [5] X. Chen and Z. Shen, *Randers metrics with special curvature properties*. Osaka J. Math. 40(2003), no. 1, 87–101.
- [6] _____, A class of Finsler metrics with isotropic S-curvature. Israel J. Math. 169(2009), 317–340. http://dx.doi.org/10.1007/s11856-009-0013-1
- B. Li and Z. Shen, On Randers metrics of quadratic Riemann curvature. Internat. J. Math. 20(2009), no. 3, 369–376. http://dx.doi.org/10.1142/S0129167X09005315
- [8] X. Mo, The flag curvature tensor on a closed Finsler space. Results Math. 36(1999), no. 1–2, 149–159.
 [9] ______, On the flag curvature of a Finsler space with constant S-curvature. Houston J. Math.
- **31**(2005), no. 1, 131–144.
- [10] _____, On the non-Riemannian quantity H of a Finsler metric. Differential Geom. Appl. 27(2009), no. 1, 7–14. http://dx.doi.org/10.1016/j.difgeo.2008.06.002
- [11] X. Mo and Z. Shen, On negatively curved Finsler manifolds of scalar curvature. Canad. Math. Bull. 48(2005), no. 1, 112–120. http://dx.doi.org/10.4153/CMB-2005-010-3
- [12] B. Najafi, Z. Shen, and A. Tayebi, Finsler metrics of scalar flag curvature with special non-Riemannian curvature properties. Geom. Dedicata 131(2008), 87–97. http://dx.doi.org/10.1007/s10711-007-9218-9

- [13] Z. Shen, Two-dimensional Finsler metrics with constant flag curvature. Manuscripta Math.
- **109**(2002), no. 3, 349–366. http://dx.doi.org/10.1007/s00229-002-0311-y
- [14] _____, Differential geometry of spray and Finsler spaces. Kluwer Academic Publishers, Dordrecht, 2001.
- [15] _____, Finsler manifolds with nonpositive flag curvature and constant S-curvature. Math. Z. 249(2005), no. 3, 625–639. http://dx.doi.org/10.1007/s00209-004-0725-1
- [16] Z. Shen and G. C. Yildirim, A characterization of Randers metrics of scalar flag curvature. http://www.math.iupui.edu/~zshen/Research/papers/ CharacterizationOfRandersMetricsOfScalarCurvature_Shen.pdf

Center of Mathematical Sciences, Zhejiang University, Hangzhou, Zhejiang Province 310027, P.R. China and

Department of Mathematical Sciences, Indiana University–Purdue University Indianapolis (IUPUI), Indianapolis, IN 46202-3216, USA

e-mail: zshen@math.iupui.edu